

I. Sentence completion: (每題2分，共30分) 
1. The twins look exactly alike, but their temperaments are entirely __________ from each other.

	(A) distinct
	(B) distinctive
	(C) distinguished
	(D) disillusioned


2. Some experts believe that an economic recovery is well __________ way. Others, however, do not share the same optimistic outlook.

	(A) in the
	(B) out of the
	(C) by the
	(D) under


3. Herbal medicine is __________ the stigma of being unscientific by combining age-old practices with modern technology.

	(A) accommodating
	(B) eliminating
	(C) endorsing
	(D) assessing


4. Resource recycling can help __________ environment burdens.

	(A) impose
	(B) facilitate
	(C) lessen
	(D) decline


5. As soon as our supervisor came back from his vacation, he asked us to __________ on the progress of our projects.

	(A) fill him in
	(B) keep up with him
	(C) bring him up
	(D) lay him off


6. The government offers __________, such as increased pay and commuting subsidies, to medical personnel serving in rural and remote areas.

	(A) motives
	(B) incentives
	(C) qualifications
	(D) accommodations


7. Mr. Wang is __________ from military service because of poor eyesight.

	(A) admitted
	(B) deprived
	(C) exempt
	(D) deported


8. Flower farms usually devote half of the planting area to producing cut flowers, while __________ half is used for potted plants.

	(A) another
	(B) the other
	(C) other
	(D) the rest


9. Some of the simplest living organisms defy classification, by virtue of __________diversity.

	(A) their
	(B) its
	(C) his
	(D) whose


10. Xiao-Hua was taken ____________________.
	(A) when she was little regularly to the Botanical Garden.

	(B) to the Botanical Garden as a small child regularly.

	(C) to the Botanical Garden regularly when she was little.

	(D) regularly when little to the Botanical Garden.


11. I doubt __________ genuine pearls, as they are sold at half their regular price only.

	(A) what these are
	(B) whether are these

	(C) if these are
	(D) what are these


12. It is difficult for seniors __________ on their studies as thoughts of graduation and illusions about life after graduation consume their attention.
	(A) concentrating
	(B) to concentrate
	(C) concentrate
	(D) concentrated


13. The runway in Kaohsiung International Airport measures 3,050 meters __________.
	(A) length
	(B) longly
	(C) in length
	(D) lengthening


14. I believe it is __________ if you want to lie you’re better off doing it on the phone, where people can’t see you and you are therefore more likely to get away with it.

	(A) misconception what
	(B) a misconception which

	(C) a misconception that
	(D) mistaken


15. The audience of the concert __________ so moved that they gave the cellist Yo-Yo Ma a standing ovation.

	(A) are
	(B) was
	(C) were
	(D) had


II.Synonym: (每題2分，共30分)
16. Mrs. Palmer was offended by the clerk's mean remark.
	(A) tasty
	(B) nasty
	(C) misty
	(D) musty


17. The spy used a fictitious name while dealing with the enemy.
	(A) funny
	(B) false
	(C) real
	(D) foreign


18. The first recognized Olympic Games were held in 776 B.C.
	(A) celebrated
	(B) viewed
	(C) acknowledged
	(D) cheered


19. The United States government issues three types of passports: diplomatic, official, and regular.
	(A) orders
	(B) circulates
	(C) retains
	(D) relies on


20. The speaker was asked to condense his presentation in order to allow his audience to ask questions.
	(A) abbreviate
	(B) expand
	(C) continue
	(D) delay


21. In the Navajo household, grandparents and other relatives play indispensable roles in raising the children.
	(A) dominant
	(B) exemplary
	(C) essential
	(D) demanding


22. When heated to temperatures above 1250 degrees Centigrade, clay fuses and becomes pottery or stoneware.
	(A) burns off
	(B) steams up
	(C) melts together
	(D) decays


23. A human body requires more nutrients in cold weather because more energy is needed to maintain body temperature.
	(A) surpass
	(B) preserve
	(C) equip
	(D) reach


24. Americans have been criticized for placing too much emphasis on being on time.
	(A) importance
	(B) activity
	(C) bother
	(D) assistance


25. A new government department was established to control maritime traffic.
	(A) military
	(B) highway
	(C) air
	(D) sea


26. An appendectomy is a routine operation.
	(A) cheap
	(B) small
	(C) usual
	(D) quick


27. A two-thirds majority in Congress is required if a bill is to become law.
	(A) necessary
	(B) desirable
	(C) acquired
	(D) optional


28. The members of the committee were assembled quickly.
	(A) advised
	(B) informed
	(C) gathered
	(D) consulted


29. The fourth year sociology class was a homogeneous group of university students.
	(A) dreary
	(B) uniform
	(C) unrelated
	(D) distinguishable


30. That vast region was irrigated by the large river and its many tributaries.
	(A) arid
	(B) miniscule
	(C) damp
	(D) enormous


III. Reading: (每題2分，共40分)
   Questions 31-35

       As a result of the recent oil crisis, 9.9 million of California’s 15 million motorists were subjected to an odd-even plan of gas rationing. The governor signed a bill forcing motorists with license plates ending in odd numbers to buy gas only on odd-numbered days, and those ending in even numbers on even-numbered days.

       Those whose plates were all letters or specially printed had to follow the odd-numbered plan. Exceptions were made only for emergencies and out-of-state drivers. Those who could not get gas were forced to walk, bike, or skate to work.

       This plan was expected to eliminate the long lines at many service stations. Those who tried to purchase more than twenty gallons of gas or tried to fill a more than half filled tank would be fined and possibly imprisoned.

31. California was forced to adopt this plan because

(A) a recent oil crisis necessitated it.
(B) too many drivers were filling their tanks with more than twenty gallons and spilling it.
(C) people were not getting enough exercise and needed to walk, bike, or skate.
(D) too many motorists had odd-numbered plates.

32. The gas rationing plan was not binding on

(A) even-numbered license plates.
(B) odd-numbered license plates.
(C) all-lettered plates.
(D) out-of-state plates.

33. Those who violated the rationing program

(A) were forced to walk, bike, or skate to work.
(B) were fined and possibly imprisoned.
(C) had to wait in long lines.

(D) were forced to use odd-numbered days.

34. All of the following are true except

(A) officials hoped that this plan would alleviate long gas lines.
(B) a gas limit was imposed.
(C) California has 9.9 million drivers
(D) the governor signed the bill concerning gas rationing.

35. The word tank in the last paragraph means

	(A) a ship.
	(B) a truck or railway vehicle.
	(C) a large container.

	(D) a military vehicle covered with armour and equipped with guns.


Questions 36-40

    Perhaps the most familiar plant movement belongs to one species of mimosa called the sensitive plant. Within seconds, it can lower its leaves and make its tiny leaflets close up like folding chairs. This movement is thought to be initiated by electrical impulses remarkably similar to nerve signals in animals. But without the sophisticated motion machinery, the mimosa has had to be creative in devising a way to move.

    For motion, the plant depends on tiny, bulb-shaped organs located at the base of each leaf stalk and leaflet. Called pulvini, these organs hold the plant parts in place. When the mimosa is stimulated－say, by a crawling insect or a sudden change in temperature－an electrical impulse sweeps through the plant. This causes potassium and then water to be shifted from certain cells in the pulvini to others, quickly turning one side of the organs flaccid. Because the pulvini can no longer support the leaves and leaflets, this shift results in a corresponding change in their position.

36. The passage is mainly concerned with the
(A) geographical distribution of plant and animal species.
(B) location and purpose of the pulvini.
(C) appearance of the mimosa.
(D) process that causes movement in the mimosa.

37. The author mentions folding chairs in the first paragraph in order to
	(A) settle a dispute.
	(B) evaluate a claim.

	(C) provide an illustration.
	(D) point out a difference.


38. It can be inferred from the passage that the mimosa is called the sensitive plant because it

(A) reacts to outside stimulation.
(B) has smaller leaves than most other plants.
(C) depends on organs called pulvini.
(D) contains potassium and water.

39. According to the passage, what is the function of the pulvini?
	(A) To stimulate movement.
	(B) To send electrical impulse.

	(C) To support leaves and leaflets.
	(D) To produce potassium and water.


40. According to the passage, the sensitive plant’s leaves move quickly when parts of the pulvini
	(A) drop off.
	(B) become limp.
	(C) revolve.
	(D) twitch.


Questions 41-43
    This year, Arizona, a state in the southwestern part of the United States, is experiencing its worst drought since the 1950s. Rainfall is off by 90% this year versus last year, and lakes and rivers are rapidly drying up. Recently, the United States Department of Agriculture declared Arizona a disaster area.

Aside from the obvious impact on home and industrial water use, the crisis has begun to affect the natural environment. There have already been several fires through Arizona’s forest lands, and government officials are nervously watching thousands of miles of dry grassland surrounding the two largest cities in the state, Phoenix and Tucson. An errant spark or lighting strike could result in a fire that could quickly grow out of control. 

The crisis has highlighted the fact that, among Arizona’s various water governing bodies, there is no coordinated plan for conserving water resources and for dealing with the crisis. The governor of the state of Arizona recently proposed creating a statewide water plan. While her proposal is meeting with some approval, the issue of how best to consolidate the state’s various water governing boards is likely to be debated for some time.

41. What is the main topic of this passage?

(A) The seriousness of a drought in Arizona.
(B) A national disaster in the United States.
(C) A plan to rescue Arizona from a water shortage.
(D) Rain levels in Phoenix, Arizona.

42. What are government officials most concerned with?

(A) How to work together to solve the crisis.
(B) The possibility of a large grassfire around population centers.
(C) Next year’s rainfall may also be lower than expected.
(D) The possibilities of dust storms.

43. What has the governor of Arizona proposed for dealing with the problem?

(A) A water-rationing plan.
(B) A plan to borrow water from other states.
(C) A national emergency water relief bank.
(D) A coordinated water conservation plan.

Questions 44-46

Number of Japanese-Born Immigrants Living in Oregon

     Year    Number                        

     1890                        10,321

1910 25,309

1930 34,645

1950 58,287

1970 72,854

1990 105,327

2001 150,751

Source: United States Census

44. What does this table represent?
(A) The number of Japanese-born immigrants in the United States.
(B) The number of Japanese-born immigrants living in Oregon.
(C) The number of Japanese-born immigrants living outside of Oregon.
(D) The number of Japanese-born immigrants living outside the United States.

45. Which organization compiled the information?
	(A) A private survey company.
	(B) The Japanese government.

	(C) Japanese-born immigrants.
	(D) The United States government.


46. According to the table, which was the first year measured in which the number of immigrants living in Oregon state exceeded 50,000?
	(A) 1930
	(B) 1950
	(C) 1970
	(D) 1990


Questions 47-50

    The Chinese have traditionally treated their history as a succession of dynasties, in which one family monopolized the throne. This reflects a belief that developed in China’s antiquity and became a foundation stone of all subsequent political thought－that emperors of China, though they themselves were not Gods, ruled on earth in hereditary succession as earthly representatives of Heaven. That is, rulers possessed the Mandate of Heaven to rule.

The Mandate of Heaven is based on the belief that Heaven determines a person’s destiny. A ruler can rule because it is his destiny to rule. By the same logic, when a ruler is overthrown, the ruler of the new dynasty claimed that the overthrown monarch lost the Mandate of Heaven, implying that there was wrongdoing. Therefore, the rise and fall of dynasties in China has been considered legitimate and the new dynasty deserving of the loyalty of the people.

47. What is the best title for the passage?
(A) The Life of a Chinese Emperor.
(B) Modern Chinese Emperors.
(C) Losing the Mandate of Heaven.
(D) Chinese emperors and the Mandate of Heaven.

48. According to the passage, how did China view its emperors?

(A) As gods themselves.
(B) As the children of gods.
(C) As representatives of the gods.
(D) As ordinary people elected to office.

49. What happened after a ruler was overthrown?

(A) The new ruler would appoint the old ruler to a high position.
(B) The new ruler would claim that the old ruler lost the Mandate of Heaven.
(C) The new ruler would have to lobby for public support.
(D) The new ruler would marry the wife of the old ruler.

50. According to the passage, why can a Chinese ruler rule?

(A) Because he inherits the throne from his father.
(B) Because he is the son of God.
(C) Because it is his destiny to rule.
(D) Because the people have chosen him to rule.
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